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Physical Education

Paper II

IiReRr forer
gyAutreht 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U STed. T YA e

AT : A YIAUCThd TR PO (100) SgTAE TeA ool ofRd. Uoieh WAl g (2)

The body weights of college students

(A) Discrete variable

(B) Qualitative variable

(C) Continuous variable

(D) None of the above

Match the columns and select the

appropriate code :
Column I

(1) Quantitative observation

(2) Qualitative observation

(3) Laboratory observation

(4) Naturalistic observation
Column II

(z) Observing all potentially
relevant phenomenon

(z1) Observation done in laboratory

(ziz) Standardized observation

(v) Observation done in real world

settings
Codes :

1o 2 & @
(A) @) ) Gv) @GD)
B) @) & @@ (o)

(C) @) @) @) @)
D) Gz Gv) @) @)

1.

Teifacurer faameat=n I e

(A) Tfed 9@
(B) T[UMcHeh et
(C) 9vI =«
(D) IAUhT HIUAET A&l
Sl Sega ST 4 FendiehTal Hauh
<l ¢
RICIN |
(1) g&aHs e
(2) TomeHeR et
(3) iR Tadteror
(4) Tafits e
et 11
() TS TN Hafud 99 wewh™
Tiero
(i) TOeTor FEARTeSd el S
(ii) gwTroTa fadtero
(jv) ardfae qRIEeEY e
Hehdieh :
1 @ Q) @
(A) @) @ (Gv) @)
B) @) @ @ (o)
(C) @) @) @ Gv)
D) @) @) @) G@)
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The fact that participant’s

performances change when attention

is paid to them, this effect is known

1T .

(A) Reactive effect

(B) Avis effect

(C) Hawthorne effect

(D) Interactive effect

In qualitative research ‘theoretical

saturation’ means .........ccccoeeeveeeennnn

(A) Deciding on a theory and testing
it repeatedly

(B) The point at which a concept is
so well developed that no
further data collection is
necessary

(C) Using too many theories in data

analysis

(D) State of frustration caused by
using every possible statistical
test

Which of the following is NOT
normally included in a qualitative
research report ?

(A) An introduction
(B) Explanation of study design
(C) Discussion of main findings

(D) Decision to accept or reject
hypothesis

SEP - 71221/I11—A

HEUT=a1 AT ATATRS 8l
e es oIl BIdl & W 3Me, &l

(A) wiafsparcas dRom

(B) Ufees aftumH

(C) B wRom™

(D) STiafsharcHe dRoms

T[UTCHeh HMEAE qferesh HYeadl Furs

............................

(A) STt fafyedt seq fa=i arer
SO B0

(B) Hehouq= faehmd 31em O Seiet
sal fob @El e sifue
ifed! THesfauar=l sTavaehal 994

(C) mifect favaroong e SUY=i=N
STAM el Sl

(D) Td TR HEeT RG]
FEE oa= 7 g oWl Tt

TS SENE= STEaTe e Jeiardeh]
FHIMET vl shenl @ AR ?

(A) F&E

(B) G9NeM S1fehcdra TSRl

(C) g=a Trewuiet ==l

(D) gftereuaar TR JALET M




All else being equal, it is more likely
will be

significant, if :

results statistically

(A) You have a representative

sample
(B) You have a larger sample
(C) You use random sampling
(D) All of the above
Which of the following show the

proportion of variance shared

between two variables ?

(A) Coefficient of determination
(B) Standard error

(C) Correlation

(D) ANOVA

What is meant by a ‘Spurious’

relationship between two variables ?

(A) A relationship that appears to
be true because each variable

is related to a third variable

(B) Relationship that is illogical

and not true

(C) Relationship that is a perfect

negative correlation

(D) Relationship that is a perfect

positive correlation

6.
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I Td GAETS A9l s deerE

(A) =1 =Ryl wifaffas e
(B) THT KT Hial A

(C) T Aok A=l STAM e

(D) eRieTyh! Fel

JaSN

TH I Ta=eHE YA HITH e st
S ?

(A) Tomes AT
(B) wmifora Fe
(C) HeEay

(D) 3=

AT el (spurious) TEEEY TEUSI

EJR

(A) HegeY B 91ed R, sk oo

(B) HgHelY 3Tdifeher STT0T © 9l

(C) quf ThRICHe TEEae ST

(D) quf ThRICHe TeEee ST

[P.T.O.



10.

The mean of a distribution is 23, the
median is 24 and mode is 25.5. It
is most likely that this distribution
is :

(A) Negatively skewed

(B) Positively skewed

(C) Symmetrical

(D) Asymptomatic

A cross-sectional study is carried out
to examine whether athletes of
international level have more
positive stress management skills
than those of a national level. Which
of the following statements is true
for this study ?

(A) Independent variable is stress
skills

dependent variable is level.

management and

(B) Independent variable is level
and dependent variable is stress

management skills

(C) Independent variable is stress
management skills and
dependent variable is

international level
(D) Neither of the wvariable is

dependent

10.
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RO ez 23, WERT 24 3710 SgeTh
25.5 3G ¥ faavor w9 3@« ?

(A) BucHes  fasfidadr
(B) TIcHe foaetadn
(C) wH®Y

(D) TALIUE (Asymptomatic)

AW TBEHE TR WA

LN o N

SU&T HehN[cHeh UM TTHIST W

SfYeh TEdId k1 ? € TYvAERl Th

N
Qoo

HIG-TRMA INET el 2. JTeedia
qElcTieh! HIv faem §e e ?

~

(A) dqUmd ™

TS SR e I 318

9 WarE & S U SR

(B) W= TR Wt = 378 o quidl

o~

(IS Shived STsREl 9ol 3T’

~

aula 14

(C) TS ShigTed T = 3T

T AW R A oA e

(D) HIUel ol ST ATEd




11.

12.

13.

14.

One of the following is not the effects

of anabolic Androgenic steroids :
(A) Acne

(B) Facial hair

(C) Weight loss

(D) Scalp hair loss

Pangamic acid iS ......cccceeeeeeeeeennnn.n.
(A) Vitamin B-1

(B) Vitamin B-6

(C) Vitamin B-12

(D) Vitamin B-15

A fat like compound found in animal

tissues thought to cause

atherosclerosis is
(A) Glucagon
(B) Cholesterol
(C) Cortisol

(D) Glucose

Local and temporary deficiency of
blood, chiefly due to the contraction

of a blood vessel is .......cccoeeueeennn.
(A) Ischemia

(B) Insulin

(C) Hemolysis

(D) Hematuria

11.

12.

13.

14.
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WAt Teh aTel faifersh g
LT 9 B Rl

(A) QT

(B) <& %d

(C) a9 =<

(D) SIRIEAT Sy o

(A) S sfi-1
(B) Stteed -6
(C) Sttee sf-12
(D) Steed &f1-15

FAUAUTHAUTTT oIEMT  JT0AT=AT
TqHie 9 ¥ed YR U
STl

(A) TSIHITH

(B) HIcrERId

(C) HRfeH

(D) TeIhIS

g TCEAl G ST9E RS
(A) sfeafaa

(B) 3fer

(C) eHmEd

(D) 3o

..........

..........
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15.

16.

17.

18.

A predetermined maximum safest
heart rate of an individual be

obtained by He, . = ...ccccocooinn.

(A) 100 — age
(B) Height in cms — 100
(C) 220 - age
(D) 120 — age

The rupture of red blood cell is ...........
(A) Haemoglobin

(B) Hemodilution

(C) Hematuria

(D) Hemolysis

A lack of sufficient red blood cells

or haemoglobin is .......................

(A) Aneurysm

(B) Androgen

(C) Anemia

(D) Apnea

A clot transported by blood from a

vessel and forced into a smaller one,

thus obstructing circulation is ..........
(A) Osmosis
(B) Diffusion
(C) Dyspnea
(D) Embolus

15.

16.

17.

18.
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MY AT U 253 S ASar
........................... T 3R,
(A) 100 — 5=

(B) ¥t. wed 3= — 100
(C) 220 — 54

(D) 120 — 9=

AT & U RIEuITH
39 TUE.

(A) feAmedrsi

(B) THERRM

(C) femmgfean

(D) THEEH

T o TR fohall ferreiferTean sTamame

................

(D) sfaf=n

THIYETE SO TEE] TR TS Teh
AfeTeh T ST BT Afctehd TTeT Shed
THAYATEM TeU@ faior gl e
3 TEUEM.




19.

20.

21.

22.

In the formula VO, = S.V.x H.R. x
a — v Oy diff.

a—7 02 diff. stands for ...................
(A) Arterial oxygen difference

(B) Arterial-mixed venous oxygen

difference
(C) Arterial venous difference
(D) Venous oxygen difference
Static lung volumes ......................
(A) Can predict exercise performance
(B) exercise

Cannot predict

performance
C)
D)

are larger for untrained
are lower for trained

axis of rotation is

perpendicular to coronal plane.
(A) Sagittal

(B) Longitudinal

(C) Diagonal

(D) Frontal

Which of the following is a uni-axial
joint ?

(A) Hinge joint

(B) Pivot joint

(C) Both (A) and (B)

(D) None of the above

19.

20.

21.

22.
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VO, = S.V. x HR. x a — § O, diff.
A PEEE @ — 5 Oy diff. BN
(A) 99 9I0MEy Hih

(B) wwr fHsiia fem Wiy wies
(C) ¥Hg el wieh

(D) et 9IoEry ®ih

......

TR |FRYE YRehdl A

................

(A) IEEA AR HIEAHMR HIehId hidl
I

(B) 1o S ShIgHME HTehid Shidl
Iq RN

(C) orufyrferared SId ST
(D) wferfaramed =t &

(A) HTIeA
(B) w@rem
(C) fem
(D) H=a

TTCTAdh! HIOTAT Teh-A&fg ATEN
3R ?

(A) foSmi=n @ien
(B) G2r=n dien
(C) (A) 3mfor (B) <t

(D) SdieTdeh! hIvde! el

P

[P.T.O.



24.

25.

26.

levers are known as

speed multipliers.

(A) Second class

(B) Third class

(C) First and second class

(D) None of the above

Formula for potential energy is

(A) PE = % mo
(B) PE = % mv?
(C) PE = mgh

(D) PE = mgh?

is a quantity which has

magnitude and direction.

(A) Scalar quantity

(B) Vector quantity

(C) Both scalar and vector quantity
(D) None of the above
The unit of ...........ccoc.e. i
(A) Energy

(B) Force

(C) Speed

(D) Velocity

24.

25.

26.
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......................

.................... T feuds oo 7 e
(A) PE = % mwv

(B) PE = % mv?

(C) PE = mgh

D) PE = mgh?

.......................... s -
3.

(A) stfew

(B) wfew

(C) sAfcer o afcwr =1 et
(D) SRIUeR! IRl TRl
(A) Fef
(B) il
(C) it
(D) =7

10



27.

28.

29.

30.

The centrifugal force is proportional

(A) Mass of the object

(B) Square of angular velocity
(C) Both (A) and (B)

(D) None of the above

For better performance in throwing

events play an

important role.

(A) Height of release
(B) Angle of release
(C) Speed of release
(D) All of the above

Angular velocity is represented by

(A) Radial
(B) Omega
(C) Alpha
(D) Theta

The unit of power is
(A) Watt

(B) Joule

(C) Newton

(D) None of the above

27.

28.

29.

30.

SEP - 71221/I1—A

(C) (A) afur (B) <=t
(D) eclien! whIvel el
heh =gl AETHETA HIEAHM SHEHAUIEE!

HEvTe | YHehl SSrerd.
(A) Frevamt S=t

(B) HreUArEl i

(C) HreuwarEr am

(D) =il e

........................

S IHEZ IS I CR
(A) EEa
(B) &
(C) ATH

(D) foa

......................

11

[P.T.O.



31.

32.

33.

Which does not come under

cognitive motivation theories ?
(A) Goal setting theory

(B) Attribution theory

(C) Unconscious motivation theory
(D) Expectancy theory

Indian teams performance improves

because of motivation from

spectators. This is

motivation.

(A) Intrinsic

(B) Intrinsic-Extrinsic
(C) Extrinsic

(D) Interactive

Arrange the following in correct

sequence for skill learning :
(I) Associative phase

(IT) Presentation stage

(ITII) Automatization stage
(IV) Cognitive stage

Codes :

A O dII dv) dn

(B) ) (aOv) O (III)
(C) IIn @O dan av)

D) av) dn di @

31.

32.

33.

SEP - 71221/I11—A

EIGTIh! IV STURA SeTcHeh IROTSTa T
I AR ?

(A) == fafeedt Saut

(B) fafirsedr Iuudt

(C) Faiter IO U

(D) 3TU&n Ul

J&Th=A WIcHTEHe WRdTd Here hIEHH
I B, &
RO 371,

(A) 3T

......................

(B) 3feR-iel

(C) <m=r

) EEIRNERIRC]

FINET TGS 3H ®Y o

(I) YeaEicHer 2udl

(I1) |EHIO o
(II1) Ter=rferd 2o
(IV) JHcHs 2o
Hehdich :
A) D
(B) (II)

(III) (IV) (D
Iv) @O dIn
(C) d1inp O dn (avy

D) Iv) dn dIn @

12



34.

35.

36.

What type of motivation is not
applicable to young children ?

(A) Intrinsic motivation

(B) Extrinsic motivation
(C) Achievement motivation
(D) None of the above

Which law of learning is also called
the law of use and disuse ?

(A) Law of exercise
(B) Law of readiness
(C) Law of effect

(D) Law of intimacy

Assertion (A) : Hostile aggression
provokes one to harm others
physically

Reason (R) : Aggression is intent
to harm other person mentally or
physically.

In the context of above statements
which one of the following is correct ?
Codes :

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true and
(R) is correct explanation
of (A)

Both (A) and (R) are true but
(R) is not correct explanation
of (A)

(A) is false but (R) is true

(C)

(D)

34.

35.

36.

SEP - 71221/I1—A

IMHT RO YIOM AR AT B
TR ?

(A) oTaRes o

(B) wfex ¥eom

(C) = 9o

(D) Ul hIUAEl TRl

P

TTeterdsh] hivTedr Fegqaq  fradren
‘It enfur  srguEivTEr fAawm
ordra 7

(A) srgefterd=n fram
(B) dea=n faH

(C) aftumHr=n faw
(D) StEestehd=n faH

faem (A) : sauqr yndfs '
TEIIUIE JER AThHGdT IWSd hid.

SIUT (R) : IR o AMfERgseI 3R
R BT digaaul 31 SThHehd= 7

T

g faum= 9 IO Iiiwt 9o
HIOA ?

Hehdich :
(A) (A) 9 g (R) A

(B) T (A) 7for (R) 93 =701 (R)
T (A) 9 MY TR TR

(C) T (A) smfoT (R) 9 g (R)
T (A) T I TR0 TR

D) (A) 3\ WG (R) I

13
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37.

38.

39.

Set of psychological qualities that

Heena Sidhu would possess :
(I) Concentration

(IT) Confidence

(ITI) Stable muscular strength
(IV) Mental stability

Codes :

(A) (D, (II) and (IV)

(B) (I), (IT) and (III)

(C) (D, D), (III) and (IV)
(D) II), (III) and (IV)

The primary goal of

aggression is the injury of another
player.

(A) Instrumental

(B) Hostile

(C) Over

(D) None of the above
Sarcoplasmic reticulum stores ...........
(A) Potassium

(B) Calcium

(C) Iron

(D) Copper

37.

38.

39.

SEP - 71221/I1—A
fem fogehe 3T IERUFA AHERTSA
T E
(D Tt
(IT) sTerfavaT
(II1) R =g amehe
(IV) wHfaes &
Hehdieh :

(A) (), (I1) smfr (IV)

ooooooooooooooooooo

B) (D, (1) awfor (II0)
(C) (), (D), (III) =7for (IV)
(D) (ID, (IID) 3o (IV)

I ARHARAA  FTUHS
2 T I TS 397 0 § .

(A) évﬁqum AT A

...................

(B) ol emerdeRar
(C) Ifd sTeRHshal

(a)

(D) IeTeh! hIUder TRl

...................
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40. A student who is skipping in a zig- | 40, RETET sHdIEEE T TS TROM
zag pattern is demonstrating an 5
understanding of which of the ferared IO gt
following movement concepts ? THTH THS 2
(A) Effort (A) T
(B) Space awareness .
(B) Ag=pr®1 SIOTE
(C) Relationships
(D) Body awareness (C) Heiy
41. Which of the following is a D) TR e
description of ineffective teaching ?
(A) Students work alone without 41, GEIEHHT W ST AT T
supervision A ?
(B) Well organized small group (A) foemeff SER@ THaT W@ Had
instructions
(C) Careful supervision by the (B) ®ien HHRld rrfsa srgeer
teacher (C) TorerepT Thelcl hlessiigach THS&T0
(D) Realistic expectations for
achievement (D) FURATSE® ardfoeh 3Tuel
42. Prime trait of ethical principles of 49, e AfGdE TEE A8 RS
profession is :
(A) Acquiring specific knowledge (A) foRTo S e
(B) Ethical problems occurred in (B) A9 Qe&sd AU Afder 991
professional services
(C) Social service (©) e
(D) None of the above (D) =RIcteh! HIvREl T8t
15 [P.T.O.



43.

44.

Arrange the following stages of
development of systematic teaching
skill in correct sequence and select

the code given below :
(1)
(2)

Initial discomfort stage

Learning how to use your skills

more appropriately stage

3)

Learning how to do more than

one thing at a time stage
4)
Code :
(A) (3), (D), (4), (2)
(B) (1), 4), (2), (3)
C) (1), 1), 3), (2)
D) 4), (2), (3), (1)

Learning varieties of techniques

The actual variables in interval

method of training are

(A) Distance, time, reps and

recovery period

(B)

Preparatory, competition and

transition period

(C) Distance, transition and

recovery period

(D) Distance, load, sprint, relay

43.

44.

SEP - 71221/I11—A

AT 1T TR Tereen/feerdt s
AT Eel! fSeied Hehdmhiqd A 944
faer

TR Fewear/foafaq ferdt

PV AT HI STIRET I
oI Teordy

(1)
(2)

TehTd dadl 3T-eh TSl Shyll ST
Corun) s 15 D B Ol

(4) 3 T ST frerdt
H@H‘I%F :
A (3), (D, 1), (2)

3)

(B) (1), (4), (2), (3)
(©) (1), 4), 3), (2)
(D) (4), (2), 3), (1)

yiyTeromren qeAal Ugdidid goael =

.............................

(A) dT, des, ATIAA, TATHTT
EIGIEDI

(B) gaaart, T9en oA1for WwHU
EIGIEDI

(C) sTaY, FHHAT MfoT qATIT=AT
EIGIEDI

(D) R, 9R, foe, o

16



45.

46.

47.

Progressive change in ability to
think, reason and act is called as :

(A) Motor learning

(B) Cognitive learning

(C) Affective learning

(D) Perceptual motor learning

Countries that have organised both
Commonwealth and Olympic

(I) England

(II) Australia

(ITI) America

(IV) Canada

Codes :

(A) (D, (II) and (IV)

(B) (I, (I) and (IIT)

(C) (D, (II), (III) and (IV)
(D) (II), (III) and (IV)

Identify the content of affective
domain and select the correct code
given below :

(1)
(2)
3)
4)
Codes :

(A) (1) and (2)

(B) (2), (3) and (4)
(C) (3), (4) and (1)
(D) (2) and (3)

Understanding
Responding
Attending

Imitation

45.

46.

47.

SEP - 71221/11—A
To@R Y0, HRIGRT T el o AR
UMM Ffaelie aga o
(A) R ALFIA
(B) &R AT
(C) YrarcHeh 38T
(D) 3TEdlY hRek 31T

TsIhe S0 SAlffas Tedrd STESH
T

=

I wws

(ID) sArefern

(I11) 38Rt

(IV) et

Hehdieh :

(A) (D), (1) safor (IV)

B) @), A1) 7for (II1)

(C) (D, (ID), (III) for (IV)
(D) (D), (III) smfor (IV)

HISATcHeh TRt HfcTehdicl Heeh SIBEH
A Hehdleh el .

(1) Tehe

(2) gfqdR

(3) AU

(4) TR
Hehdich :

(A) (1) emfur (2)
(B) (2), (3) =fur (4)
(C) (3), (4) o (1)
(D) (2) o (3)

.......................
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48.

49.

Students participation in sports will
lead to ..ccoovvunneiieinnnnes

(I) Development of Leadershlp
(II) Conservation of Values
(ITI) Socialization

(IV) Cultural Exchange

Codes :

(A) (I), (II) and (IV)

(B) (II), (III) and (IV)

(C) (D and (I1I)

D) (D, (D, (II) and (IV)

Match List-I with List-II and select
correct code given below :

List-1

(@) School Games Federation of
India

(b) The Service Sports Control
Board

(¢) Indian Olympic Association
(d) The Board of Control of Cricket
in India
List-II

(1) 1919

(2) 1928

(3) 1954

(4) 1951

(5) 1927

Codes :

(@ ) (© (@
A 3 1) 6G) @
B @2 @ @ 6
< @ B3 @ @

D B O 3 @

SEP - 71221/I11—A

........

(A) (I), (ID) smfor (IV)

(B) (II), (III) =i (IV)
(C) (I) afur (ID)

(D) (D), D), (IIT) safor (IV)

A e

49. I I 37fo7 AT 1T < ool Tref! ferean
IREEIE

HehdihTqd A
gt 1

(@) Ha T HeEH 3w 3fea

(b) TEE T T e

(¢) zfema sifefues srifdTaym

(d) oS 3k T AT fhehe 37 sfea
T 11

(1) 1919

(2) 1928

(3) 1954

(4) 1951

(B) 1927

Hehdieh :

(@ b)) @ (@

A 3 1 B @

B @2 @O 3 B

©C @ 3 2 @

D B O 3 @

18



50.

51.

52.

Who framed a national curriculum

for elementary schools ?
(A) NCTE

(B) NCERT

(C) UGC

(D) All of the above

A person’s belief in his or her ability.
To accomplish a specific task or

behavior is called ......................
(A) Health promotion

(B) Self-efficacy

(C) Self-determination

(D) Locus of control

Which of the following means and
methods can play a much vital role
in popularizing the concept of

Health Education among all ?
(A) Print media

(B) Seminar and conferences
(C) Electronic media

(D) Cultural interaction

50.

51.

52.

SEP - 71221/I1—A

TAHF IMea IS TSI STEHY 10T
TIR &d ?

(A) THIE

(B) TH.91.3.3TR.3.

(C) .4

(D) =ierient e

faferse &l quf FHToarErdl SHeRiteAn

T AT qHAE forgemary
e,

(A) 3R gg1

(B) @ &med

(C) @:ffv=g

(D) fE=omEn faga

AR foerom=l Hehea T Taiged wiag
RIS WTeATeTdeh] il |req 3Tfor

Tgdl T YfHeRT fHwrerd ?

(A) U HIEgH

(B) =r=tws amfor ufiwar
(C) ToaIfeh Heaw
(D) Wi QeTureE

19
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53.

54.

55.

Which of the following would require

a prescription from a doctor ?

(A) Vitamin supplement

(B) Birth control pills

(C) Diet pills

(D) Analgesics

In general, primary students who
are heavier than their peers are
likely to find it easiest to be
successful in physical activities
requiring :

(A) Stability

(B) Agility

(C) Speed

(D) Rotation

How many different amino acids are

used by the Human body ?
(A) 15
(B) 18
(C) 20

D) 25

53.

54.

55.

SEP - 71221/I11—A

JETden! TS Sl rafwaer=i

A Thdl 39d ?

(A) SieTaw dwitHe
(B) s fo=or wesn
(C) dioor Tiiezn

(D) SR

=0, WfHeR wekiial ot foreneff s
foreneafuan aeeR oTEaa o9 fommeit
I IUHH AIRSATT0] SHITATT YTl
e ?

(A) Tere

(B) feenfyged
(C) =
(D) fept =

HHa! IR SFaTes fohd! YehRE! STHRAT
AN AT ?

(A) 15
(B) 18
(C) 20

D) 25
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56.

57.

58.

The Central Board of School
Education suggests that schools plan
out a Comprehensive School Health
Programme which could be initiated

through :

(A) Taluka Health Department
(B) Government Hospitals

(C) School Health Club

(D) Village Health Officer

The Government agencies provide

recreation through
(A) Internal service

(B) Departmental service
(C) District service

(D) Extension service

Which of the following is NOT a
major component of school health
program ?

(A) Physical education

(B) Healthy school environment
(C) Health insurance for students

(D) Nutrition services

56.

57.

58.

SEP - 71221/I1—A

e foreomen SEE deer gaaced

9 ST IUhHTE] FEaTd  hI0Te
RIEREE I

(A) dqIgRT ARG faum

(B) IMEHE UMY

(C) IMeF IR HEb

(D) T ST SAfereRRT

.................

(A) safes e
(B) faurita Fen
(OREED

(D) foearfid e

AN A = ~ ~
L[AlelYeh] <hlU[dl ®deh MMy HITY

FAHAE A "Hh Rl ?
(A) TR fRrem
(B) SIRFIYUl ¥ Gero
(C) forneatardt fom
(D) dIVURER Fel

21
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59.

60.

61.

62.

The components of wellness include
all the following except :

(A) Spiritual

(B) Intellectual
(C) Psychological
(D) Physical

Amongst four most popular

countries the highest obesity
children and young adults are found
in :

(A) Russia

(B) China

(C) United States

(D) India

A reduction in training intensity and

volume to facilitate a peak

performance is
(A) Recovery
(B) Rest
(C) Taper
(D) Training

comprises of a number
of training sessions that can span
from 7 to 10 days :

(A) Training unit

(B) Training schedule (micro-cycle)
(C) Training plan

(D) Macro-cycle

59.

60.

61.

62.

SEP - 71221/I11—A

qEICTUh! hITTAT B2k TRTHII=T Seehi-

7Y SHd RN ?
(A) seafcreh
(B) wifse
(C) AFYETET
(D) IR

fomeft smfor WremS Tyere yHOT gE
TR ARTT STURT HIIT ST Tl e
e ?

(A) TWErn

(B) =

(C) i

(D) 9rd

3o HIFHH Yo IS FRIETT et

SO SATRRAM HHT HI0 TS
(A) S

(B) fas

(C) W

(D) wfereor

7 7 10 foagr=n sreatid wTEt widner
AT FHTAY Y IRl 7 FRUTS

..............................

(A) wfereror weeh

(B) RT&ror desrdsteh  (F&HHh )
(C) wi¥reror s

(D) #Hshl=rsh
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SEP - 71221/I1—A

63. Match List-A and B and select | g3. =€t ‘A’ a7fo1 ‘B’ Seal d I qIig
correct option : ferer .
LiSt'I LiSt'II a-la':.-_l -q-la':l-_II
(1) THR (I) 30 m. dash 1) FEEr O 30 H. <
2) Aerobi II) 130 b
(2) Aerobic (D pm 2 s (I) 130 <drem
(3) Anaerobic (IIT) Football - .
(4) Aerobic + (IV) Marathon ®) (D) % .
Anaerobic 4) @m + (IV) et
Codes : SRRUEED
o @ & @ Hehdich :
(A) ID avy @ («dI o @ & @
(B)IIID av) an @ A I av)y @ din
(C) O dI adan av B)I) aIV) dn @
64. Th'e aim of technique. training ir.1 ‘Fhe O) I (@O aOV) D
third phase of skill acquisition R . .
TSR 64. HRTCd HORAA fawA T T
(A) To achieve mastery over the qﬁrm'trrﬁ 15> 2 RN
technique (A) AR TISOMUTa 9T RO
(B) To achieve rough coordination (B) SR 3lee-Hee ga<od quifed
in skill Eau|
(C) To achieve fine coordination in ©) ci7||o|{ c{qﬂdqqu” SIKS q',{lﬂ
technique (D) =ed gRod Fuifed
(D) To achieve skill conditioning - . -
_ _ 65. 24 I W-El Beagdl [ FHiediie]
65. Calculate THR at 85% intensity for T < 64 I W TR ST I 85%
a 24 year old Kho-Kho player whose FRA 20 T WA SUHT ISR o1
RHR is 64 bpm and who wants to TS e TeT <X S
erform 20 min. aerobic activity :
P Y (A) 1762 3 wfi fafse
(A) 176.2 bpm 5% o
(B) 177.2 bpm (B) 177.2 i
(C) 175.2 bpm (C) 175.2 3= wfa fafte
(D) 168.2 bpm (D) 168.2 I Ffa fafe
23 [P.T.O.



67.

68.

69.

............... are the plans prepare in
advance of a competition, which will
place an individual or team in a
winning position.

(A) Techniques

(B) Strategies

(C) Tactics

(D) Style

...................... is a process of
performance comparison among
sports persons or sports teams.

(A) Sports competition
(B) Sports association
(C) Sports organization
(D) Sports federations

To find and develop talent for high
performance several years ahead in
the future is the aim of ...................

(A) Sports talent identification
process

(B) Sports organization talent
procedures

(C) Sports association talent
procedures

(D) Sports federation talent process

The sum total of pre-requisites
possessed by a person which will
enable him to achieve high
performance in a sport in future
IS weeereeeere e
(A) Sports competition
(B) Sports camp

(C) Sport talent

(D) Sport training

66.

67.

68.

69.

SEP - 71221/I11—A

et fohan Tame fasugTer degvamardt
YA heledl ASHl RS

(A) 2forery
(B) HfefSs
(C) Tahfery
(D) VA

SIS el TISTHHET= SHEaHE g

HOAE Giwar U
(A) el waHi
(B) hiel H&eA
(C) ISl ITSH
(D) SISl HeEH

qfsTd ge 3T a8 Iod HEHMEER
TR Sl et fawE ¥
o 29 T3

(A) Hiel U STes@uard] Yfshan
(B) SISl AESH T RS
(C) el "o W=l hEaGal
(D) SIS WEEs Wall Wishan

Hieqs g I=9 HEAME HUIed
FIY AT F&H HIOMAT TG9Ih

T THO Ml IS TS
(A) whiel woHi
(B) el fafsr
(C) ISl Wall
(D) shisl FrRreqo

..........
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SEP - 71221/I1—A

70. Main physical qualities required for | 70. 110 Hl gSAUTIE! SEAITH Heq BUREED
110 m hurdlers are .................... TOTATT ceeeeeeeeeeeeeeaeannnnn
(I) Speed @ =
(I) Anaerobic power (I) FTAfaer SRt
(IIT) Flexibility (111 STafsema
(IV) Muscular strength (IV) S qhe
Codes : Hadis :

(A) (I) and (II) (A) (1) =7fT (I0)

(B) (D, (IIT) and (IV) B) (D), (IIT) 3T (IV)

(C) (II), (III) and (IV) (©) (D, (I 3 (1V)
D) @D, (I, (III? and (IY) ©) @, (D, {0 e 1V)

71. Match the following physical fitness R e Cn
components with their respective 71. gGLcd }*II:\II{OI')\{:ISGCII Secol=l A=Al
test : ISR dY SISl Sjood] @
List-I List-TT TR 11

(@) Strength test (1) Bleep test (@) THS FHHE (1) =TT FHEe

() Aerobic Fitness(2) Sit and reach | ®) Wik ggear  (2) fae s f=

test FHel

(¢c) Body (3) 30 m flying (©) YRR Hed (3) 30 . WA
Composition test =reoft

(d) Speed 40 1 RM (d) o 4) 1 RTA.

(5) Hydrostatic (5) %’W@@W
weighing . =

Codes : Hehden

A @ 3) 1) (@ A @ 3 1 @
B @ 1O & 3 B @ @O G 3
< 2 B3 G @ © @2 B G @
D) @ @ @) 6) D @ 2 3 6B

25 [P.T.O.



72.

73.

74.

Which of the following is NOT
affecting measurement while
administering psychomotor test ?

(A) Sequence of test

(B) Appropriate warm up
(C) Equipment

(D) Geographical condition

Select the correct answer from the
choice given below :

(I) Quality of movement is the
point of focus in product
evaluation.

(IT) Rating scale is used for product
evaluation.

Codes :

(A) Both (I) and (II) are correct
(B) (D) is correct and (II) is wrong
(C) (I) is correct and (I) is wrong
(D) Both (I) and (II) are wrong

Calculate and interpret WHR with
the help of the table below. Waist
circumference of the man is 95 cm
and hip circumference is 101 cm :

Classification | Men Women
(risk of

disease)

High risk >1.0 >0.85
Moderately

high risk 0.90-1.0| 0.80-0.85
Optimal low

risk disease <0.90 <0.80

(A) Optimal low risk disease
(B) Moderately high risk
(C) High risk

(D) Obese

72.

73.

74.

SEP - 71221/I11—A

HH FHSATD FIEATYT HIATAT

JEITeh! ShIVTT ek HIATER IRumy i

@ ?

(A) wEEET HH

(B) 9rg wrdifaeh gl

(C) wrfecd

(D) Hiiferer TRFEer®

Weld JaEiie ST A g3t

ae =0

I) UfRomH HEIHTIATHE gt e
51 RN GE I B |

(1) 9ftormm gegArgaHe agfvea
U= SYANT el STl

ot

(A) q= (1) et (1) § seR 3T’

(B) %%aﬂma@wﬁ(m%%@

(C) glé%aﬂma%mﬁ(l)%%@

(D) = (D) =nfor (II) § 9% R

eI hiehme Hheax o Tad o=t

T foeiell 3118, TR GEUT=AT ekl

W 95 It o fAqem=n B 101 T 2.

oA w0 9 Seffeen o

Classification| Men |Women
(risk of

disease)

I=a el >1.0 | >0.85
qeq 37t 0.90-1.0/0.80-0.85
#TehT

=1 eI

EIED <0.90 |<0.80

(A) =1 TSR it
(B) A& 3AfHeh Rt
(C) 3= Hiehl

(D) ¥

26



75.

76.

77.

SAI Volleyball Test items are ...........

(A) Service, Passing and Medicine
ball throw

(B) Service, Passing and set-up

(C) Volleying, Service and Passing

(D) Service, Wall Volleying and
Medicine ball throw

Which one of the following

definitions describes the term

validity ?

(A) Consistency of the test

(B) Honesty of the test

(C) Value representative of a
particular population

(D) Usefulness

Neuro-Psychological Test attempts

to measure ........coevevvveneeninnennnn
(A) Intelligence
(B) Concentration level

(C) Behaviour

(D) Deficit in cognitive functioning

76.

77.

SEP - 71221/I1—A

.........

(A) wfedw, i sufor Afsfam sta @

(B) dfgd, wifem enifor de-amg

(C) =ieit, Hiegw afor oife

(D) wfew, afa s s Afsfam
st o

RIeTteh! ShioTd! same  Serar’! a1 we

ol & ?

(A) HHEHHA Ha

(B) SERET YATforR Yo

(C) fafyre SmEEie wfaffuaa wom
T

(D) 9

N Ne

< FASR e

HIYT U]l Hdcd o dld.
(A) dfga

(B) Thmrdl &

(C) =

(D) sEF wEAHA @

[P.T.O.



78.

79.

80.

What is the problem with this stem
of the question ?

“Do you think physical fitness
activities and Yoga should be included
in secondary school curriculum ?”

(A) A leading question is used in

this stem

(B) Aloaded question is used in this
stem

(C) Double barreled question is
used in the stem

(D) There is no problem with the
stem

Which of the following statements
is NOT correct ?
(A) Measurement can be qualitative

(B) Summative evaluation begins
during the early stages of
teaching

(C) Importance of the summative

evaluation is to grade the

student at the end of the
semester or course

(D) Evaluation is an outcome

Which of the following is traditional

technique of Assessment ?

(A) Exhibitions

(B) Written test

(C) Project

(D) Event task

78.

79.

80.

SEP - 71221/11—A
eI YA HIV HHET SeRd ?

" Oreafies e AIEHAHY IR
Gead! ITRH ST AT A= el e
eS8/ 3MIedTen ded w1 2

(A) T TCuReie I99 3Te

(B) ® WeleH YA TR

(C) Y3AId S HZHMET THET

[aWaY [a

(D) YSAHY hIEE! HHET 3Tcesd 18

qeictueh! HIvd foam ara @ ?

(A) HTOH UM ST Tehd

(B) 9&fad {eAHTIA AEATIAT=AT

FeaTdre S gE el
ATHHH YT TATAT T2
fammeafn goft JvITEESt Hehfad

TEAHTITEl 39ANT Bl

(&)

(D) IO U T

qEIcTdeh] hIVId HedHTaaTe JRUE a3
Aqe ?

(A) wefA

(B) ol ==

(C) 9hed

(D) FEHA FHE
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81. The new sports policies for the | 81. ISl HHSAEE! Fefid ISl €T A1k
Sports Associations is based on : FIMER MG T8 ?
(A) Corporate Governance Framework (A) MURE TeEi=q HHoh
(B) Society Registration Act (B) W@t Higoll e
(C) European Union Model (C) 'ﬁ'ﬁﬁlﬂ’l RIERE Hred
(D) UK Based Model (D) I STaRRa A
82. The main financial planning tool for | 82 shiel s g q&A
sports planning is : a7fees felieHe |eM o,
(A) Balance sheet (A) oerd T
(B) Cash flow forecast (B) ¥ WD IS
(C) Income and Expenses (C) 3= anfor =
(D) All of the above (D) =it &d
83. Which of the below is an example | 83. @rcilcTUeh! ST R ITSHHT ISR
of cooperative activities ? —
(A) Students work together to reach
a consensus as a group (A) fomneft wqe =uH THREAT w@
(B) The students crawl and then FHLAT
walk forward across the bench
and then sideways and (B) fereneif shfer sheamay Smfor e o=
baclkwards T A @R S AW R
(C) The instructor stands in front
of the class or group and (C) forer ol fohen TeER 39 T
lectures or advices AN fRar oo 201
D) The instructor assumes a more
v passive role and guides the (D) wietee St ffahal sqfivt i
student interactions HXATA ST forganeateh Harg |eda
29 [P.T.O.



85.

86.

87.

are the resources that

provide utility value to all other

resources.
(A) Men

(B) Material

(C) Money

(D) Machinery

What is used to attract the customer ?
(A) Promotion

(B) Marketing

(C) Advertising

(D) Selling

in

Which terminologies used

managing the facilities are
appropriate ?

(A) Controlling, planning, organizing
(B) Staffing, organizing, planning
(C) Directing, staffing, controlling

(D) Booking, scheduling, safety and

housekeeping

The strategic planning for sports

organizations shall begin with ...........
(A) Budgeting for the project
(B) Internal

environment

and external

(C) Vision, mission and objectives

(D) Operational functions

85.

86.

87.

SEP - 71221/I11—A

2 319l WM STRd S s
Hd Fiael SugEd o YeH A,

(A) T
(B) wfec
(C) T
(D) FFEwRi

UEHTT STh{td LIS h1T TIA
S ?

(A) YHIRH
(B) fauom
(C) hfexr
(D) forsn

HaEr= HEaTTIAEIE! aTRvArd o=

A G RO ?

(A) s, fEmm, STEeH =)
(B) SHARI, M,

(C) fewnfrew, s, femm

(D) R, JBIAH Fa0], FLE ST
KEREAIRH

HIS YS! S0McHR TS ST
I gEAd Bl

(A) THTIES St

(B) Si@ia o7foT =@l Sree
(C) T, % st S
(D) SATRIAA T

.................

o N

ERISE

30



88.

89.

90.

The present value of cash inflows are
greater than the present value of cash

outflows, the project would be :
(A) Accepted

(B) Rejected with condition
(C) Rejected with approval
(D) Rejected

A teenager smoking cigarette
(tobacco) for 1 year is most likely to
have this health problem :

(A) Lung cancer
(B) Pneumonia
(C) Chronic bronchitis
(D) Emphysema

Non-sampling errors are introduced

during :

(A) Processing of data

88.

89.

90.

SEP - 71221/I1—A

S HIT TTHAIS AdHM HEd &
STRTHATAT A JeardaT A8 319,
X YeheT ¢

(A) EHRA SEd
(B) feerdiag AepRUR
(C) A9 ATHRUR
(D) THEA SEA

Teh HANGA SHKIT Teh TSR YT
A AT B AR TS eIl

Halfess TeR o8
(A) RFRH Hh
(B) ff=n

(C) wHiffeh Afhrae™
(D) TEhREH

RSN HEfHa FHeiedn A2t wE i
B ?

(A) HIfEdieR Ufehan wadm

(B) Analysis of data (B) Hifedr= fergetsm
(C) Sequencing of data (C) =it eI
(D) Collection of data (D) wifed Heher
91. Name of the body part the | 91. STcIEERIa a@=n IS (\?I{'\I{IW’\I
enlargement of which is often used | ~  cooeeeeeeeeeeeeee Stadai=Al Stien RIAdRIRI
as an Index of Child’s Growth : SRIEIE
(A) Shoulders (A) =1
(B) Chest (B) Bt
(C) Legs (C) wr=
(D) Waist (D) =W
31 [P.T.O.



92.

93.

94.

“Physical Education is a

fundamental right to every citizen”

is included in :
(A) WHO

(B) SNIPER

(C) HRD Ministry
(D) UNESCO

Philosophy of physical education
Program is ......ccceeeeeuvvvvnnnnn.
(D Realism

(II) Pragmatism

(ITT) Idealism

Codes :

(A) () and (III)

(B) (II) and (III)

(C) (D, II) and (IIT)

(D) (I) and (II)

Free hand activities generally done
in group is :

(A) Flag drill

(B) Plyometrics

(C) Calisthenics

(D) Weight training

92.

93.

SEP - 71221/I11—A

“eRiTCeR T80T 81 Wedeh TR = Heyd

...................

(A) T=Y.TF.3.
(B) TE.wH.31a.fu.3.31R
(C) WIS T

D) 7.2 T3,

IMAftR o101 FTEHAE  Tadq™

(I) aEaR

(II) HIERETE

(I11) 3Treetere

Hahdieh :

(A) (I) emfor (I1D)

(B) (I) o (IID)
(C) (I), (1) =wfor (1I1)
(D) (I) T (I1)

94, FEHE foAMEIE hetell ITRA BN

(A) Sl FHama
(B) SR
(C) wHereaferd
(D) ¥R gfreo
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95. For a sport to be included on the | 95 <= sifafius wul FEFETM TOES
Summer Olympic program : - -
ympic prost RIS TER] Wod $aehl Wesell el
(A) Men and women in at least 25
countries on 4 continents (A) 4 TEMd fHAM 25 UM &
(B) Men in at least 25 countrle?s on 7 Tfzer
3 continents and women is at
leas't 25 countries on 4 (B) 3 Wede 25 2vmie T 9 4
continents )
(C) Men in at least 75 countries on erdiel T 25 SRMAleT AT
4 continents and by women in Con - < -
at least 40 countries on 3 (C) 4 TSl ThHAM 75 SR JoH
continents T 3 TSRS foHAM 40 LAt Higen
(D) Men in at least 25 countries on .
4 continents and women in at (D) 4 Tera fHAM 25 <P TE
least 25 countries on 3 PP n o
. J 3 EWEIdlet ThHMA 25 SRIIdI HIGAAl
continents
96. Which of the following would ensure | 96. WA IR YEAdeh! &M B 2
healthy joints ?
. (A) HICHT HIOAEET dAT=l ITANT
(A) Use of massage oil
(B) Eating more proteins (B) wfer eifere @
(C) Lifting heavy weights (C) 31y aw Igetul
(D) Maintaining healthy bod - -
. 8 g d (D) YRR a9 STREICRT @0l
weight
97. The ability to use strength quickly | 97. TR @RA ITAN HEA Thich Hdl
to produce an explosive effort is FIOA T B v,
(A) Agility (A) 1
(B) Aerobic endurance (B) WTssh THIOM
(C) Muscular power (C) =g ¥l
(D) Anaerobic endurance (D) ST THGRA
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98.

99.

The ‘National Sports Organization’
is an effort by the Government of

India to promote :
(A) Youth of India towards fitness
(B) The development of athletics

and sporting activities for youth
(C) Fit India with fit people
(D) Sports for talented youth

................... is a creative and dynamic
process giving friendly guidance and
direction to teachers and pupils for
improving themselves and the
teaching-learning situation for the
accomplishment of the desired goals

of education.
(A) Supervision
(B) Direction
(C) Participation
(D) Teaching

100. A period between macro cycles is

(A) Transition period
(B) Training period
(C) Competition period
(D) Tactics period

98.

99.

100.

SEP - 71221/T11—A
YA TR SRR & YR SRR
HIU SUHHATE TSI HLIHET T
AR ?
(A) vRar=n garen fhew

(B) stercifesa=n faehrd ST Jerenirer
ISl SUHA

(C) fme sfear anfn fipe &

~

oo

(D) A9 ok

oooooooooooooooooooo

yishan 3 St frares o fogaeafan wa:
uRuIEel oo ferertea Rraromsh
TRfEerdt URUATEE SThe AFEeH ad
aTfor gfesd 3 9T SIuAd Heg hid.

(A) wHaero

(B) fewmfacar

(C) HgHm

(D) fereon

TRl ThMETA R

(A) HhH FHIcTaE
(B) Wfkiefor hreaed
(C) ¥&i whramaEt

(D) @YY I
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ROUGH WORK
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ROUGH WORK
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